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(XA 1] (10 %)
Given that Y = SIN X is a solution of ODE
U 2" +11y" 42y +10y =0,

find the general solution.

[ 2] (15 2)
(a) State the convolution theorem for Laplace transform
(b) Find the convolution of * e, t>0

(c¢) Find Lit*e t] and with 1t to verify convolution theorem.

(X4 3] (a5 %)
For which values of a and b does the following system have
(a) no solution
(b) a unique solution

(¢) infinitely many solution.

2x+2y+3z=4
2x+3y+az=>5
3Ix+4y+5z=>b

(XA 4] (20 %)

6+ 06+ 0+ - 3. 3 _r TS
When V—al+5;j+5;k’ F=xi+ypj+zk and r=y vy g = |

, V-F =3, VxF=0 and VF=ii + jj+kk .

2

please show that Vr =

~ |~
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[AA 5] (15 2)

—

F=x%+ yZ} +2°k , S is the region area bounded with

x+y+z=1Lx=0,y=0, z:O,ﬁnd[ﬂﬁmdA_
A

(XA 6] (15 o)

. . . . 3 : .
Find the Fourier series of the function f(x)=cos’ 2x +sin’ x using Euler
tormula.

(£ 7] (10 o)

|
Evaluate .[C ; dz , Cis the line segment from i to 2+ 4i



